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5. AFRK (EBNATHEBRARTEEL)

H27. 1. 1~H27.12. 31

. SR (C) W (%) J& (m) Mk (mm)
% —
IS SRS TR I A T O R A S = S -
I R R T . *
i woow 2 A oy M "
H
ﬁ; E; E; E; Eﬂ Eﬂ %ﬂ ﬁ%
ol CAEE T il

¥oom & %W owm & W wm @ k|
1 7.5 17. 1 -2.1 82.1 98. 8 27. 4 82.1 1.5 NNW 21.3 14. 5 90.0
2 7.1 18.0 -2.0 81.3 98. 8 39.4 81.0 1.4 NNW 17.1 10.0 | 109.5
3 11.0 24. 7 -0.9 81.9 98. 8 21.6 81.4 1.4 NNW 15.5 10.5 98.0
4 17.2 26. 2 6.9 85.7 99. 1 24. 4 85.9 1.6 W 17.5 17.5 | 179.5
5 19. 7 30.8 10.5 87.6 99. 1 28.8 86. 8 1.3 W 14. 7 16.0 | 126.5
6 21.8 29. 2 15.3 95.5 99. 4 53.8 94. 8 1.3 ENE 17.7 27.5 1 893.0
7 25.8 34.6 17.8 92.6 99.7 55.5 92.7 2.1 E 24.0 19.0 | 434.5
8 26. 4 34. 8 20. 6 91.4 99. 4 53.6 90.9 1.4 W 48. 8 35.5 1409.0
9 23.5 30.6 16.0 90.0 99.9 52.7 90. 1 1.1 N 14. 3 26.0 | 211.0
10 18.5 28. 4 8.8 83.0 99. 4 27. 2 83.6 0.9 NNW 16. 1 6.5 38.0
11 16.5 25.9 5.2 91.3 99. 4 54.17 90. 3 1.0 NNW 18.6 29.0 | 273.5
12 10. 6 19.7 -1.8 87.2 99. 4 33.6 87.5 1.1 NNW 14.9 44.5 | 309.5
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